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QUESTION 1

An laaS Administrator is explaining Endpoints to a colleague.

How can the administrator explain why it is not needed to enter credentials every time vRealize Automation
collects data from an Endpoint?

A. User Credentials are stored for Endpoints

B. User Credentials are uploaded from a CSV file for Endpoints

C. Identity Store authenticates for Endpoints

D. vCenter Single Sign-On authenticates for Endpoints

Correct Answer: A

QUESTION 2

You have been tasked with customizing the provisioning workflow of a specific blueprint. What object would you need to
edit to achieve this?

A. Skill
B. Stub
C. DEM
D. Agent

Correct Answer: B

QUESTION 3

A system administrator has created a new tenant and wants to use native Active Directory as the identity store but the
option is not available. What is the issue?

A. The vRealize Automation appliance is not joined to Active Directory.

B. The option to enable native Active Directory is not enabled in the server configuration.
C. The identity appliance is not joined to Active Directory.

D. A new tenant cannot use native Active Directory.

Correct Answer: C

QUESTION 4
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When deploying a multi-machine blueprint that includes two web servers that should both service client requests, what
type of NSX for vSphere service is deployed?

A. An NSX for vSphere Edge Services Gateway configured for static routing.

B. An NSX for vSphere Edge Services Gateway configured for load balancing.
C. An NSX for vSphere Edge Services Gateway configured for dynamic routing.
D. An NSX for vSphere Edge Services Gateway configured for load sharing.

Correct Answer: B

QUESTION 5

Several departments have the requirement to provision workloads with vRealize Automation using a single vCloud
Director Virtual Datacenter. Each department is in a separate Business Group.

How should the administrator configure Reservations in vRealize Automation?

A. Create a new Reservation to include the required Business Groups.

B. Reserve a portion of the Virtual Datacenter for each Business Group.

C. Create a new Business Group that encompasses all of the departments.

D. Over allocate the Virtual Datacenter to accommodate all of the Business Groups.

Correct Answer: A
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